



CERTIFICATE OF ORIGIN

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: MI-COO-46840-664b88093593e

Date: May 20, 2024

Port of Loading Transport Type Seller (Exporter) Air Miami World Threads, Inc. DBA EBERJEY 2222 Ponce de Leon **Destination Country Destination Port** Coral Gables United Arab Emirates Dubai FL USA **Export Date** Exporting Carrier ****** Consignee **Noul LLC** Import Permit Number Bill of Lading / AWB For Bloomingdales AE C/O Al Tayer Logistics Whse Al Qouz Industrial Area 3 Owner or Agent Forwarding Agent **United Arab Emirates**

Buyer (Importer)

Noul LLC PO Box 2623

Dubai

United Arab Emirates

EBJ-1210779

Consignor reference: BLM.AE 24



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Nomen organic linen pant	2.4 KG	Vietnam
H.S.Code: 6104.69 Women pajama set/sleepwear		
Women pajama set/sleepwear	3 KG	China
Women pajama set/sleepwear H.S.Code: 6108.32 Women linen short set		
Women linen short set	2.4 KG	China
H.S.Code: 6108.39		
Women organic linen crop tank	2.4 KG	Vietnam
H.S.Code: 6109.90 CERTIFICATE OF ORIGIN		
======================================		
ADPUD CHAMBERS FEDERATION		

Name of Authorized Trade Association



Line Ventura Da

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the Greater Miami Chamber of

Commerce ("GMCC") is accurate, true and complete.

The Applicant undertakes to advise GMCC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the

truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the GMCC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GMCC from any liability in connection with the issuance of this certificate and to indemnify

GMCC in respect of any costs and/or claims made against GMCC in connection herewith. The Applicant is authorized to give the undertakings set out herein.

Authorized Signature Liane Ventura



Commercial Invoice

EXPORTER

WORLD THREADS INC. DBA EBERJEY INTIMATES

3325 NW 70th Avenue Miami, FL33122

UNITED STATES

Telephone:(305) 699 - 0547 ext. 2220

Ship Date: 05/16/2024

Order No: 717257

Customer PO Number:

BLM.AE 24 **Pick Number:** EBJ-1210779

Purpose of Shipment:

COMMERCIAL

CONSIGNEE Noul LLC

For-Bloomingdales. AE

C/O Al Tayer Logistics Warehouse,

Al Quoz industrial Area 3 DUBAI – United Arab Emirates Contact Name: Mr. Sibin

Phone NO: 00971-4-3412131

Noul LLC For Bloomingdales AE

SOLD TO

PO Box 2623

Dubai

United Arab Emirates

Terms of Sale: EXW Payment Terms:

NET 30

Currency: USD

Parties to Transaction: Related □ Non-Related ☑

Style No.	Description of Goods	Color	Contents	coo	нтѕ	Units	Unit Value	Value		
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	BODY?: 95% MODAL 5% SPANDEX	CN	6108.92.0030	2	56.00	112.00		
Z3020W	ORG LINEN PANT	BLACK	BODY?: 100% LINEN	VN	6104.69.8038	3	60.00	180.00		
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	BODY?: 100% LINEN	CN	6108.39.8000	3	109.00	327.00		
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	BODY?: 95% MODAL 5% SPANDEX	CN	6108.92.0030	2	56.00	112.00		
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	BODY?: 100% LINEN	CN	6108.39.8000	2	109.00	218.00		
Z3020W	ORG LINEN PANT	BLACK	BODY?: 100% LINEN	VN	6104.69.8038	1	60.00	60.00		
Z3020W	ORG LINEN PANT	BLACK	BODY?: 100% LINEN	VN	6104.69.8038	2	60.00	120.00		
C3020R	ORG LINEN CROP TANK	BLACK	BODY?: 100% LINEN	VN	6109.90.8030	1	38.00	38.00		
C3020R	ORG LINEN CROP TANK	BLACK	BODY?: 100% LINEN	VN	6109.90.8030	2	38.00	76.00		
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	BODY?: 100% LINEN	CN	6108.39.8000	2	109.00	218.00		
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	BODY?: 95% MODAL 5% SPANDEX	CN	6108.92.0030	3	56.00	168.00		
C3020 RAPORUS	ORG LINEN CROP	BLACK	PODY?: 100% LINEN	VN	6109.90.8030	3	38.00	114.00		
Z3028 WMIAM 5	ORG WENNING	BLACK	BODY?: 100% LINEN	VN	6104.69.8038	2	60.00	120.00		

4
2
02
202
20
2
\rightarrow
a
Σ
Ð
2
6
2
2
80935
0
∞
œ
ف
4
9
9
ب
~
∞
4
7
Ö
00
ĭ
-
Ξ
_

Style No.	Description of Goods	Color	Contents	coo	нт	s	Units	Unit Value	Value
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	BODY?: 100% LINEN	CN	6108.3	9.8000	1	109.00	109.00
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	BODY?: 95% MODAL 5% SPANDEX	CN	6108.9	2.0030	3	56.00	168.00
C3020R	ORG LINEN CROP TANK	BLACK	BODY?: 100% LINEN	VN	6109.9	0.8030	2	38.00	76.00
						Total Units:	34	Subtotal Value:	2,216.00
						Freight:			
						Total:			2,216.00
						Currency	<i>t</i> :		USD



Ship To:

Noul LLC

From: WORLD THREADS INC.
DBA EBERJEY INTIMATES
3325 NW 70th Avenue

3325 NW 70th Avenue Miami FL, 33122

USA

For-Bloomingdales. AE

C/O Al Tayer Logistics Warehouse,

Al Quoz industrial Area 3 DUBAI – United Arab Emirates Contact Name: Mr. Sibin Phone NO: 00971-4-3412131 PO:BLM.AE 24 PT:EBJ-1210779 Store: NOULC Vendor: DC: NOULC

*Total Weight: **25 lbs** Total Volume: **1.75 cuf** Box Count:**1**

Style No	Style Description	Color	Size	Barcode	Quantity
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	XS	190491306238	2
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	S	190491306245	3
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	M	190491306252	3
PJ1018SN	GISELE RELAXED SHORT PJ SET	LA/IV	L	190491306269	2
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	XS	190491307921	2
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	S	190491307938	3
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	M	190491307945	2
TS3010S	GARMENT DYED LINEN SHORT SET	IVORY	L	190491307952	1
C3020R	ORG LINEN CROP TANK	BLACK	XS	190491308980	2
C3020R	ORG LINEN CROP TANK	BLACK	S	190491308997	3
C3020R	ORG LINEN CROP TANK	BLACK	M	190491309000	2
C3020R	ORG LINEN CROP TANK	BLACK	L	190491309017	1
Z3020W	ORG LINEN PANT	BLACK	XS	190491309130	2
Z3020W	ORG LINEN PANT	BLACK	S	190491309147	3
Z3020W	ORG LINEN PANT	BLACK	M	190491309154	2
Z3020W	ORG LINEN PANT	BLACK	L	190491309161	1

34

Total Cartons Details *Total Weight: 25 lbs Total Volume: 1.75 cuf Box Count:1

<u>UPC</u>	<u>Style</u>	Style Desc	<u>Color</u>	<u>Size</u>	Qty
190491306238	PJ1018SN	GISELE RELAXED SHORT PJ (LA/IV	XS	2
190491306245	PJ1018SN	GISELE RELAXED SHORT PJ (LA/IV	S	3
190491306252	PJ1018SN	GISELE RELAXED SHORT PJ (LA/IV	М	3
190491306269	PJ1018SN	GISELE RELAXED SHORT PJ (LA/IV	L	2
190491307921	TS3010S	GARMENT DYED LINEN SHOR	IVORY	XS	2
190491307938	TS3010S	GARMENT DYED LINEN SHOR	IVORY	S	3
190491307945	TS3010S	GARMENT DYED LINEN SHOR	IVORY	М	2
190491307952	TS3010S	GARMENT DYED LINEN SHOR	IVORY	L	1
190491308980	C3020R	ORG LINEN CROP TANK	BLACK	XS	2
190491308997	C3020R	ORG LINEN CROP TANK	BLACK	S	3
190491309000	C3020R	ORG LINEN CROP TANK	BLACK	М	2
190491309017	C3020R	ORG LINEN CROP TANK	BLACK	L	1
190491309130	Z3020W	ORG LINEN PANT	BLACK	XS	2
190491309147	Z3020W	ORG LINEN PANT	BLACK	S	3
190491309154	Z3020W	ORG LINEN PANT	BLACK	М	2
190491309161	Z3020W	ORG LINEN PANT	BLACK	L	1
W x H x L inches					
14 x 12 x 18 Weight: 25	lbs Vol: 1.75 cuf			Total in carton:	34

^{*} if the orders is palletized the weight of the pallets and wrapping materials are not included

